EARAROBEEIERT — 2 N— IBISH —F

201478128 (+) 2EEEE3H

SR N

5

CES)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — |2 (&) 12000 B

[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.o A . _ 7
: A TIFATIIN H o2 gz_ﬂaﬂ‘ﬁ 1.(0_9).8 1-1 349|846 | 5 (416) g%gx (®R)
22 F1—FTIUNT1 BEIFTIIL 797577 —14
7 5 4 2 | BERERRA 1:10.6 8-6 35.2| 76.4 | 1 432 | BE—% (ER)
2012 |X3ANTFAEFY 54.0 (5) (—) | @) FrFeb
RHIINTIA— BivaARRLT =¥ T L
= s 2 | EHES 1:10.6 2-2 356 76.2 | 8 164 | BEZEZ (EH)
37|13/ N T A EA R 54.0 (742%) ) | @ 7575 77-n
L LTAN— b BATaA ML xR
P > B 2 | BFER 1:10.9 3-3 35.7| 73.2 | 14 | 404 |HAKERF (&)
4)1]|1]|7Y)>ERIVE— 4510 @ o) Pl P
LT RIAY T v BiITANLET 12— e e ]
s o | HELFNE 1:10.9 3-3 35.7| 73.2| 6 432 | ISERE (EH)
57|14 T¥HA 54.0 (7€) ) | EHEA
RwYUETyAk BiaAAS Ty R— HhEANTT— LI
o . = o ZHER 1. — . . & (EiH)
6 5| N M A>T 1y TR "2 a% (12111/23) R R R ?ES) b
RSNy BEHTT B MLF 1 yN— HEBET7— L4
P i o2 | ARHER 1:11.5 6-5 36.2| 67.4 | 16 | 490 |EEIFK (=)
7 7 NA I vF 70— 54.0 (1 1/4) (=) EFRE A
L—AJA—- BE4 ALy > ZRET 77— L
A 4 o | SHEA 1:11.8 14-14 36.0 | 64.3 | 13 48 | HHEZ (ER)
8|8|16| =71 54.0 @ (L) |H H STqs-EnAE
:aAv>X B:I77ET H—L— - JvX> - T7—LARS
o 2 | BUUE—EB 1:11.9 -1 |36.2| 63.4 | 10 | 466 |MNEEE— (=)
o2 /YLANTH= 54.0 (7€) ) |Ete
L:xrdAnMO— BANAINy M =TI HR& All%E
oA 2 o2 | - 1:12.0 15-15 | 35.5| 62.3 | 15 | 492 |=iE%EE E#)
10/5]9 | 1> r7aN 54.0 (3/4) (o) |FREA
LHIINTF— B:IZXX7AN KBS
= X 4 2 | WRREIE®E 1:12.1 8-9 36.7 | 62.0 | 12 450 | RBEE (EH)
11l | TAT1 T ¥ 54.0 (3/4) o) | @ z2517r-n
R:bh—€>77> AL B:b—t>IXxO BREHM IXF1T77—L4
S o o2 | N 1:12.1 11-11 [ 36.4| 61.6 | 9 418 | THEE (FX)
12 g |H-FFrL o A51.0 (1hF) (—) | #) o-Ff-2957
L1 Lx—L B:LTsF7o0 TALTAT7— L
[N N AR — 112, — . . EREEE (EX)
i 3| PNELFY 1 4 it 2 s 1(712t2 6-8 36.9] 61.2 | 4 (418) g
R:TvA4T7 by h— B:OXTNNAL =152 )
2S5 4 2 | EHEBZ 1:12.7 8-11 37.3|57.0 | 7 460 | FETES (RR)
14| 8|15 "j"f[//x7'7 54.0 (3) (—) SAIRZE
RARY WY 4=y B:TT)—Tay chith B3
=\ o2 | EIEF 1:13.1 3-6 38.0| 54.4 | 3 440 | KEE (ER)
5@ 11| 7= A7ANT 54.0 @172 | EeE
LA agR=-5— B:vY— iy —F
s 2 | EEEHZ 1:13.9 16-16 | 37.1| 45.2 | 11 454 | FREFRA (EH)
16/ 5 /10| 7V T A N7 54.0 (5) (—) ﬁlllﬂ%%l
R ZAZHI KR B:THHITr BitHEmE
@ 71 L
) 46.4-34.9
NA>ZA L | 12.4-11.0-11.5-11.6-11.4-11.9
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x4,13) (1,11,14) (7,3) (2,6,15) (5,8,12) 16-9-10
43—F— | 4,13(1,14)7(2,11)3(5,6) (8,12,15)16-9=10
[ N3
B O 4 920H 714K 2-4 1,050H e E 1-2 740 JEHE 2-4-13 16,660M
8 B 4 270M 4-13 3,760 B = 2-4 2,590M B 4-2-13 87,740
2 150/ 2-13 1,270 B H 4-2 5,460
13 480M

ABICOVWTRDTEEERROODE. TR LIV,




